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This appendix shows the method of grid arrangement and further geometric parameters
computation. The wing and horizontal tail on the right side are taken as an example, as shown in Figure
A.
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Figure S1. Grid distribution on wing and horizontal tail.

The ith grid number is defined as

i=Ngy - (Ngy =D +ng, . (S1)
In Figure A, for Nawth ang Mewth-l row, X and o represent the interception point on
the root chord and tip chord respectively. Yew s the span length of the Nowth and Newth-1 grid
boundary. The specific coordinate is described as
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As a result, the coordinate of the starting point of the 1th grid, which locates in row Mrw and
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n (y“cw e XnRW ' yncw ' yncw -tan 1—‘W) .
column VY, is by . The coordinate of the end point of the ith
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Accordingly, the coordinate position of the corresponded grid on the horizontal tail is calculated
as follows
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As a result, the coordinate of the starting point of the it grid, which is located in row Mew and
xt, —Xxr, ;
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